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100m-50m=5,000 i (1,515.2 #F)
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100m-50m=5,000 m

08-48=4,704
96-46=4,416
94-44=4,136
92-42=3,864
90-40=3,600
88-38=3,344
86-36=3,096
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88.3%
82.7%
77.3%
72.0%
66.9%
61.9%

70m-70m=4,900 mi (1,484.8 £¥)
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—— 70-70=4,900
68-68=4,627 94.4%
66-66=4,356 88.9%
64-64=4,096 83.6%
NN 62-62=3844 78.5%
It | 60-60=3,600 73.5%
58-58=3,364 68.7%
56-56=3,136 64.0%
54.2-54.2=2,940 60%
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60m-30m=1,800 ni (549 1) 50m—50m=2,500 mi (757.6 #¥)
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50-50=2,500

48-48=2,304  %92.2%
46-46=2,116 84.5%
44-44=1,936 774%
42-42=1,764 70.6%
40-40=1,600 64.0%
38.73-38.73=1,500 €0%

60-30=1,800
58-28=1,624 90.2%
56-26=1,456 80.9%
54-24=1,296 72.0%
52-22=1,144 63.6%
50.5-21.4=1,080 60.0%
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